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Note: Answer FIVE full questions, choosing,ONE full questionfrom'Each module.
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I a. Explain the components and categories of production system. List the requirement of good

b. Explain steepest Hill climbing techhique with an algorithm. Comment on its drawbacks and
how to overcome these drawbadts. (10 Marks)
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b. List and'Explain the problem
prop'er,trieuristic search.
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3 a. Consider the following setrtcnces, 1,i,

before deciding on a
(10 Marks)

. John likes all kinds of food.
o Apples arerufood. , ',,r,,,. , :'l'

. Anything anyone eats and isn't killed by is food.

. Bill eats peanuts and is still alive.

. Sud'idts everything Bill&s:
(D Translate all the sentences into formulas in predicate logic.
(i1) .,rrG€invert formulas fr,oqj':Bravious step into"clarise form.
(iii)i,*;lPfove that John likeS peanuts using resolutidh.
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(iii);,*;'-Pfove that John likes, lutidh. (12 Marks)
b. Differdtitiate between foffiaid and backward reasoning and list the factors that influences

.the'thoice between thein.l,iir (08 Marks)

a. Define CNF. Give an algorithm ing given proposions to CNF. (10 Marks)
list the qualities a

(10 Marks)
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a. Explain Justification baled Truth Maintenance System (JTMS). What are the two critical

criterion that must be met during labeling of JTMS and illustrate with suitable example.
(10 Marks)

b. What are portio,ned semantic nets? Express the following quantified expression using

semantic netsl
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(r) Ev-er! dog has bitten a mail carrier.
(ir) ' ,EVery dog in town has bitten the constable.
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(10 Marks)
(10 Marks)

(10 Marks)

anatogy and
(10 Marks)
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F.xolain the conceptual dependency represel

E*iruio MINMAX search with approPrlqtQ
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What are the key issues in non-monotJnic reasoningu-qypffi#? Explain the two 'iiJffiIT
used for logic representation for non-monotonic l?u?pffi$:,
Define Bayes theorern what are its li-ffi;;i *#-h.{"inty 

factor is used to overcome its
(10 Marks)
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